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Example: Given the following Payoff tables: where table (a) represents profits and
table (b) represents costs:

(a) Profits (zU,)

Alternatives States of nature (Axuhll Y
(Jsldl) S, S, S5 S,
a1 3 5 8 -1
a 6 5 2 0
as 0 5 6 4

(a) Costs (adlss)

Alternatives States of nature (Aaxhll &Y
() ) S, S5

a1 5 2 1

d> 4 3 3

as 2 6 1

State which can be chosen as the best act using: plasuil Bl Ladi led
Laplace criterion w3V ,lxo —
Maximin criterion 3Ll ylxo — Maximax criterion Jalad! ,lxeo —

Savage criterion zdls ;bxeo — (a=0.4) Hurwiz criterion  jgs,88 ylxo —

Given: P(S;) = 0.6, P(S;) = 0.1, P(S5) = 0.2, P(S;) = 0.1 in table (a) () Jgorll dxadal! Y > ¥ Lo dnogdroy
, (Expected Monetary Value) o lgall dxgiad! dowd!! jlxo lovStiue 1! fadl aogf
, (Expected Opportunity Loss) eyl 8 jluse) dx8gied! dopdl! jlxo

(Maximum Likelihood) .leadg ys™¥1 drumbal! SYL> 4o
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Profits (Cb)i) Y SV el 1ol LY
Alternatives States of nature (Axuhll Yls)
(Jsll) S, S, S5 Sy
a1 3 5 8 -1
as 6 5 2 0
as 0 5 6 4

1- Laplace criterion: (_wMs¥ yLxo)
E(a1) = (3+5+8+-1)/4 = 3.75

E(ay) = (6+5+2+0)/4 = 3.25

E(as) = (0+5+6+4)/4 = 3.75

Select dq or A3

2- Maximax criterion: (5! yLxo)
a;, 2> 8

a, > 6

a3z 2> 6

Select dq
3- Maximin criterion: (pgLid! L)
di1 - -1
d> -0
das -0

Select dy or A3

3- Hurwiz criterion: (59259 sbxe) @ =04, 1-a=06, V(g) =o+maxr; + (1 —a)

V(a;) =0.4*8 + 0.6*(-1) = 2.6
V(a,) = 0.4*%6 + 0.6%(0) = 2.4
V(az) =0.4*6 +0.6*(0)=2.4

Select dq
4- Savage criterion: (zdlw ;lxo)
Opportunity Loss table: (sud! Jgu>)

*minr;;

Alternatives | States of nature (Axphll &Ys) " o
(Jlad) S, S, S, 3 ax of a; | Minimax
a1 3 0 0 5 5 5
a; 0 0 6 4 6
as 6 0 2 0 6
Select A1
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(b) Costs (i) YL o Y el 0 LY
Alternatives States of nature (4anhll OYs)
(Jaladh) S1 S, S3
a1 5 2 1
az 4 3
ds 2 6 1

1- Laplace criterion: (_wMs¥ yLxo)
E(ai1) = (5+2+1)/3 = 2.67

E(ay) = (4+3+3)/3=3.33

E(as) = (2+6+1)/3 =3

Select dq
2- Maximax criterion: (_j§ld! yLxo)

a, 2> 1
a, 2> 3
a3z 2> 1

Select dq or A3
3- Maximin criterion: (pgLid! L)
a; 25

d> - 4

das - 6

Select dp

3- Hurwiz criterion: (3359 jbxe) =04, 1-a=0.6, V(a) =oa*minr; + (1 — u) * Maxry;
V(a;) =0.4*1 +0.6%(5)=3.4

V(a,;) =0.4*3 +0.6%(4) =3.6

V(az) =0.4*1 + 0.6*%(6) =4

Select dq
4- Savage criterion: (gdlw ;lxo)
Opportunity Loss table: (puld! Jgu>)

Alternatives | States of nature (dxukhll <¥ls) Max of a Minimax
(Jslal) S, S, S '
a 3 0 0 3
a, 2 1 2 2 2
a3 0 4 0 4
Select dy
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In table (a) Given: P(S;) = 0.6, P(S,) = 0.1, P(S5) = 0.2, P(S4) = 0.1

; States of nature (L&¥lial 5 Zanhll <L)
Alternatives
(Jslad) P(S1)=0.6 | P(S)=0.1 | P(S5)=0.2 | P(S4)=0.1
. S1 Sz S3 54
al 3 5 8 _1
az 6 5 2 O
33 0 5 6 4

1- Expected Monetary Value: (A\51gald dx8giod! Aol 4Lixo)
E(a;)=3*06+5*0.1+8*0.2+(-1)*0.1=3.8
E(a;)=6*0.6+5*0.1+2*0.2+0*0.1=4.5
E(a3)=0*0.6+5*0.1+6*0.2+4*0.1=2.1

Select dp
2- Expected Opportunity Loss: (_e ! & st dxdgsad! doudl! yLxo)

Alternatives | States of nature (dxuhll <Yl
(Jlad) s, S, | S S,
a 3 0 0 5
a, 0 0 6 4
as 6 0 2 0

E(a1)=3*06+0*0.1+0*0.2+5%0.1=2.3
E(a))=0*0.6+0*0.1+6*0.2+4*0.1=16
E(as)=6*0.6+0%0.1+2*0.2+0*0.1=4

Select dp

3- Maximum Likelihood: (legdg ¥t yisT)
Si: rn=3,nrn=6,r3=0

Select dp

< 100
Clileal) Cay A Radia

(1) Jguoeld dxpdad! OY > Y Lo | dyoghzos



